
REAR MUDGUARD HONDA CBR600F 99’-07’

REF:1436 

INSTRUCTIONS TO ASSEMBLE 

1- Dismount the original chainguards. 
2- Dismount the rear brake guides (2). Place the hardware supplied (1) over the guides, as the figure shows, using the M6x20 

white screws. Tigth it without pressing. 

3- Place the silenblocks in the rear hugger drills.  

4- Mount the hugger using the M6x15 allen screws in the drills of the chainguard fixation. In the hardware use the M6x20 
allen screws jointly with the M6 nuts. 

5- Adjust the hugger with the tire through the regulation that the iron fittings offer, and tighten them all. 

6- Check them periodically, and tight the fixations. 

7- In case your motorcycle has other accessories, observe that it does not interfere with the hugger. 

Material supplied to assemble the mudguard: 

DESCRIPTION QTT
M6x20 screws DIN6921 2 

M6x15 allen screws DIN1001 2 

M6x20allen screws DIN1001 2 

M6  nuts 2 

Iron fittings 1 

Wellnuts 4 

�

�

�

Rely on premium motorcycle frames & body by Puig if you’re looking for quality and efficiency.

https://www.motorcycleid.com/puig/
https://www.motorcycleid.com/frame-body.html



